EARAROBEEIERT — 2 N— IBISH —F

20195F5H 308 (k) 6EIEMH5H

Kl 3C2— 5% 3® ‘ (XM&] W ‘ (sl — | & (B) 14000 THE
[AE4£] 17 :400,000 @ ~ 23#&:112,000 @ ~ 3 3#&:56,000  ~ 43#&:40,000 ™ 5 3&:32,000 @
B B BEBR M HE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
i35 s 4 3 | KUEE 1:31.7 2-2-2-2 | 38.2| — 4 417 | KEER (&)
1lglg|#3IZ7RE=L 54.0 - (+4) | BHE
LN v = BFxEIL— AREEARS
" EHEE 31 -1-1- . - KR (FiH)
2 6 XruYY 4 X H— 43 IR 1(33/14)9 1-1-1-1 | 38.5 1 (4_5;0) S
L:a=—/xLLy b B:Vavs/—T0 BRI
R . X ERER . _n_n_. — KE&E= (AMR)
35| 5| patnny 4 3 LA (17;32% 3-3-3-3 | 38.3 5 (3_&3:3) Al
:ErFAVY BiFH A fre s RV e ]
S HAME : —4-5- = WFEEFH (ER)
N BECECDES 3 S 1.(312).1 4-4-5-4 | 38.4 3 (4_316) 1@@7&
LiR=—HNK B F—FI—rF FU I MG
se—p. AR :32. -8-9~ . — IHO#=E (FEkR)
5 3| VTVT4—2 4 3 A 1(322)4 9-8-9-8 | 38.2 8 :1})27) e
R:FHh¥<vT7128 B:FHY<T7LVa El9EZ e}
# o3 | A% 1:32.5 6-6-66 |38.5| — | 6 | 431 |THEES (Ei)
61111 | XITARMU=F 55.0 (7E) (45) |MEIEE
Z:Z2bha TR BIRIYH B NS
XS 4 3 | MEREF 1:32.8 5-5-3-5 |39.2| — 7 421 | TEE¥R (ER)
717l B—F3IZ5—-Ta @) (-5) |#) AR pEE
T4 >T7Tyva BiI/N—-Ta TATAT7—1L
= FH&T : -10-7- - FHEE (FkR)
8 4| FaTn—r 4 3 L (11'313/110) 10-10-7-7 | 38.7 2 (4_625) =
XK AT By KNA—h #E BB
o AAREL .34 10— ) _ EiEXE (EE)
9lgligEATITUEZ i 3 on 1(3;)4 8-9-10-10 | 39.9 10 <3+815) EEE;
LNMVTTY BiLTA—ERXRTA— pxl#ie]
= 0%, 1@ € K FF :35. ~7-8- . - WoissE (k)
10 2 =S JRUISK— L 4 3 ;{53_0 1(345)1 7-7-8-9 | 41.0 9 a:g)a e
R:U—FHI5Y> BikyIvE—=2U AFEO4S
® 1 — @B
1T=7r= 6,9,5,7,8,1,2,10,3,4
2a=5"= 6,9,5,7,8,1,2,3,10,4
Ja=5= 6,9,(5,8),7,1,4,2,3,10
40—+ — 6,9,5,7,8,1,4,3,2,10
[ /N
B 9 1,350 74K 6-9 200 B 6-8 540 JEE 5-6-9 1,090
B B 9 190M4 5-9 620 B & 6-9 500 JEE 9-6-5 10,180M
6 1004 5-6 250M B E 9-6 1,930
0 250M

ABICOVWTRDTEEERROODE. TR LIV,




